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Carbon & Its Various Forms
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Carbon and its various forms
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i il" [ &Y @ * Both graphite and diamond are allotropes of carbon.
Carbon and its ®* Diamond i1s the hardest while graphite 1s softer than
diamond.

various forms
® QGray 1s used in pencil lead.
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Carbon and * Buckminster fullerene 1s a pellet fullerene (an allotrope of

. . carbon). Its formula 1s C..
1tS various

® In the structure of this compound composed of 20
forms

hexagons and 12 pentagons, the atoms are surrounded by

polyhedral structure.
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Carbon and its

various forms

A7 TeIgioe - 45-85%
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* On the basis of the | percentage of carbon, the minerals of

coal are mainly divided into four types-
* Lignite - 25-35%
® Sub-bituminous - 35-45%
® Bituminous - 45-85%

®* Anthracite - more than 85%
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Carbon and its, Diamonds are used to cut and engrave or scratch glass.

various forms . Hydrofluoric acid (HF) is also used for etching and scratching

glass.

® (Glass forms silicates soluble in hydrofluoric acid (HF), due to

which HF 1s not stored in glass containers.
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Carbon and its * Carat is used to describe the w&ight of a diamond.
. 1 carat = 0.2 grams
various forms i t@

0.2 grams = 200 milligrams
® Graphite 1s a grayish black smooth shiny organic substance.

® (@Graphite powder 1s used as a lubricant in heavy machinery.



Carbon and its

various forms
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Solid carbon dioxide is called dry ice or dry snow.

It directly converts into gas on heating.

It 1s used in the manufacture of ice cream and as an

effective coolant.



Q. 1 Which of the following elements forms maximum number of compounds?
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Q.2 Which of the following does not contain carbon?
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(a) diamond/ BRI 7
(b) graphite/THIEE
©) coal/ﬁ'ﬂ?ﬂ\c/
__d) noneofthe above /SUUTH H g Tl
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®* Diamond is an allotrope of carbon. Its relative density i1s

3.5. Graphite 1s a smooth shiny organic substance of gray
black color, its relative density 1s 2.25, while coal 1s a

solid organic substance which 1s used as a fuel.



Q.3 Which of the following 1s made up of only carbon?
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%) Kevlar/ el
‘/631) Lexan/adT

__Ad) spider silk/®aTge fHeeh
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® Graphene 1s a two-dimensional allotrope of carbon.



(?l7 Graphene 1s-
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(a) Carbon alloy/ el ﬁr%T‘%Tl?f

©)) } Nano model of caron&:"lﬁ? CAEEIRYGEY]
(¢) Isotope of carbon/&HTe T THEATHE
(d) None of the above/39h H g Tl
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® Graphene 1s a thin layer of ordinary carbon with a

thickness of one molecule, which has i1mportant

applications in the field of nanotechnology.



Q.5 Which of the following 1s not an allotrope of carbon?
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® Oxocarbon 1s not an allotrope of carbon. An oxocarbon

1s an 1inorganic compound consisting only of carbon and

oxygen.



Q.6 Pencil lead 1s -
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(b) Charcoal/ duohm GEEEIEIRSID

(c) lamp black/ﬁmﬁ%"
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* Both graphite and diamond are allotropes
of carbon. Diamond would have been the
hardest. While graphite 1s softer than
diamond. Use of graphite as a pencil.

Used in making lead.



Q.7 Which of the following 1s also used as a lubricant?
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/ (a) Cuprite/ FJITRE

/(bféraphite/ﬁ Bz
/c) Hematite/ THTCTSS
__Ad) Cryolite/ ShTTelTs
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Graphite 1s a pure crystalline allotrope of carbon. It is
also used as a lubricant. The carbon atoms in its crystal
are arranged 1n layers of regular hexagons. Due to the
presence of weak van der Waals force between their

layers, graphite 1s soft and lubricated.



Q.8 Buckminster fullerene 1s-
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(a) A form of carbon compound consisting of a cluster of 60 carbon

atoms linked together 1n a polyhedral structure made of pentagons or
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® Buckminster fullerene is a spherical fullerene
molecule (an allotrope of carbon). Whose
formula is C60. In the structure of this
compound composed of 20 hexagons and 12
pentagons, the carbon atoms are bound by a

polyhedral structure.



Q.9 Which one of the pairs given below i1s correctly matched?
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® Fullerene 1s a molecule of carbon, which has a
special structure. The first fullerene molecule
was produced 1n the year 1985 under the name
Buckminster fullerene (C, ). Whereas fluorine

(F, atomic number -9) 1s a chemical element.



Q.10 Which of the following does not contain carbon?
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/{a) Diamond / 2”1 H

/(b) Q@;e/ﬁwszﬁ
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®* Diamond 1s a crystalline allotrope of carbon.

Its relative density 1s 3.5. Graphite 1s a
crystalline allotrope of carbon, which 1s
grayish black in color with a smooth luster.
Whereas coal 1s a solid organic material,

which 1s used as a fuel.



Q.11 In which of the following carbon 1s found?
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//(’a Lignite/ fetTse

/ (c) Silver /=
~~"(b) Tin /feH

_Ad) Iron [ATET
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__—"(a) 1 pig iron/ aAd] A |
/ (b) in wrought iron/fYedi g 4
ﬂc) in steel/ I H
__~ (d) m alloy steelf&f%T‘ng Ay




o TAdl &g (Pig iron) T ahTe ahl HTAT FTHT 3.5 ¥
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®* The carbon content in pig iron ranges from about

3.5 to 4.5%. Which 1s more than other given

alternatives in wrought iron (0.04 to 0.08%), steel
(1.5%), alloy steel (0.1 to 1%).



Q.13 Which of the following 1s not a crystal?
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(a) Diamond/gRT
©)) Quartz/ala'léﬁf
(c) Sulfur/ TS

(d) Graphite/ UhIse
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® Salt, sugar, dlamond, quartz, ice, graphite etc. come
under the category of crystals, whereas sulfur does not

come under the category of crystals.



Q.14 Which of the following substances 1s the strongest?
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(a) german silver/ ST e
(b) Brass/didel

© Graphene/ﬁtﬁ?

(d) steel/ &It




Q.15 Which is the lubricant for the use of machines?
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(a) Bauxite/ ST

(b) Phosphorus/ HIEhHITH

(¢) Graphite/ PSS

(d) Silicon oil/fcThT ATA




* RS TAST hId TT kT THhAT IHHSR HIsi-eh 9erd AT 2| I8

sl o SIEY &| UBISE <[0T okl ITANT I AT H THEeh o €9 H

fopaIT STTaT 2

® QGraphite 1s a grayish black smooth shiny organic substance. It 1s
an allotrope of carbon. Graphite powder 1s used as a lubricant in

heavy machinery.



Q. 16 Which of the following 1s called dry ice?
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(a) dehydrated ice/SifeTd oI%
(b) snow on the mountains/ UETS! W ISl 9%

(¢) solid carbon dioxide/3TH HTe STIHTFATEE

(d) solid carbon monoxide/ IR CACE
qHIATFES
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® Solid carbon dioxide 1s called dry ice or dry snow. It
directly converts into gas on heating. It 1s used in the

manufacture of ice cream and as an effective coolant.



